PHYSIOLOGY QUIZ 2 2002
1. Which one of the following statements is Correct?
A. Fatigue of a synapse may occur due to the closing of Ca2+ and K+ channels

B. Synaptic fatigue is most commonly the result of exhaustion of the number of synaptic vesicles stored in the nerve terminal

C. Post tetanic facilitation results from a decrease in presynaptic terminal Ca2+ concentrations

D. Chemical transmission is unaffected in the absence of extracellular Ca2+

2. The amount of data that a nerve can carry is limited by which property?

A. Absolute refractory period 

B. Number of transmitter vesicles stored in the terminal button

C. The magnitude of the resting potential 

D. The magnitude of the action potential

3. Modulation of pain

A. Is stimulated by pressure or touch stimuli of the skin

B. Affects only C-fiber nociceptor transmission, not A-delta nociceptor transmission

C. Occurs only within the midbrain of the CNS, NOT in the cord

D. Is NOT compromised (reduced) in the presence of long term pain

4. What is the INCORRECT statement concerning visions mediated purely by rods?

A. Rod vision, at very low light levels has little visual acuity

B. In moderate light levels, rods can plug into lateral inhibition circuits used by cones

C. Rhodopsin is resynthesized only when the retina is stimulated by light

D. Rods are absent from the fovea centralis

E. Only one photon may be needed to stimulate rods, unlike cones

5. With respect to the size principle, which general group of motor units contracts first?

A. Large motor units

B. Small motor units

C. Large and small motor units contract simultaneously
